Correction numération — CM2

Décompose ces fractions comme dans |exemple :

156 5 6
= =z1l+=+—=
100 10 100
24 _ 5,3, 4
100 10 100
21 1
d_oy 1

10 10

167 7
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100 8 100
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100 ~ 10 = 100

906 6
D -9s &
100 100



Recompose comme dans |'exemple :

3 8 738
T+ —+ —=—
10 100 100

88 + L 4 4 o881

10 100 100

9 4 809
+ — = —
48 100 100

5 32 005
2 + =
3 1000 1000

327 + 1 + 6 - 327 016
100 1000 1000

92 292
2+ — ===
100 100

Exercice manuel p 31 n°5 :

_ 40 _ 400 _ 4000

“ 10 ~ 100 ~ 1000

150 _ 1500 _ 15000
15 =202 150 -

10 100 1000

2040 _ 20400 _ 204 000
204 = = =
10 100 1000







